Answer Keys

1 A, A, 3 B 4 D 5 B b 7
B C 9 A, 10 11 C 12 B 13 A& 14
15 C 16 D 17 B 18 B 19 A, 20 21
22 C 23 D 24 B 25 D 26 B 27 A
29 D 30 A 31 B 32 C 33 & 33 B
36 C 37*%| B/C | 38 D 39 B 40 C 41 C
43 B 44% | AJB 45 45 B 47 48 C
50 B 51 C 52 C 53 C 54 Lo*
57 D 5B 59 C 60 D
Explanations:-
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CIs generator

Similar d*d=h
d*d*d=b*d=c
d*d*d*d=c*d=a
d*d*d*d*d=a*d=d
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51 = Fetch(F)
S2 =Decode (D)
S3 = Execute (E)
S4 = Write back (W)

15%2=30(for i=1%i=2)



29, Total 4 sets are there in the cache and each set contains 4 blocks
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35, Applying Maste orem
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+1)mod 10 = 3( collision J{usinglinear probing)
[3+1)rmod 10 = 4 Like this continue,

Maximum height of any AVT tree with nnodesO 1.44logn
n=7h, 01.44l0g7=4

40,

Ly MNLs ={a“b"'n::fn z D}J which is context free but not regular



44, B — ] One split
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£1.  Sector number is(400x20%63)+(16%63)+29 =505 *

57, 10%ms .......10%bits
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Delete 25 @ Replace it by

={14,13,12,8,10}
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